CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER NO. ONE (1) CARRIAGE HILLS WATER TRANSMISSION MAIN EXTENSION W02-1234 5/01/03

CONTRACT AMOUNT BEFORE THIS CO: \$160,388.50 CONTRACTOR: MAINLINE CONTRACTING, INC.

LINE ITEM	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
1	TRAFFIC CONTROL	LS	1.00	\$1,500.00	\$1,500.00	1.00	\$1,500.00	\$0.00
2	MOBILIZATION	LS	1.00	\$10,000.00	\$10,000.00	1.00	\$10,000.00	\$0.00
3	INCIDENTAL WORK	LS	1.00	\$27,000.00	\$27,000.00	1.00	\$27,000.00	\$0.00
4	CLEARING AND GRUBBING	LS	1.00	\$5,100.00	\$5,100.00	1.00	\$5,100.00	\$0.00
5	REMOVE AND SALVAGE EXISTING FIRE HYDRANT, AUX. VALVE & BOX	EA	1.00	\$500.00	\$500.00	1.00	\$500.00	\$0.00
6	EXPLORATORY EXCAVATION	HR	8.00	\$200.00	\$1,600.00	8.00	\$1,600.00	\$0.00
7	ROCK EXCAVATION (TRENCH)	CY	1,640.00	\$1.00	\$1,640.00	1,640.00	\$1,640.00	\$0.00
8	TYPE 1 BEDDING MATERIAL	TON	580.00	\$15.00	\$8,700.00	580.00	\$8,700.00	\$0.00
9	CONTROLLED LOW STRENGTH BACKFILL MATERIAL	CY	40.00	\$140.00	\$5,600.00	27	\$3,780.00	(\$1,820.00)
10	14" DI WATER MAIN-INSTALL CITY FURNISHED PIPE	LF	260.00	\$40.00	\$10,400.00	260.00	\$10,400.00	\$0.00
11	12" DI WATER MAIN	LF	456.00	\$53.00	\$24,168.00	456.00	\$24,168.00	\$0.00
12	PIPE ANCHOR	EA	6.00	\$575.00	\$3,450.00	6.00	\$3,450.00	\$0.00
13	FIRE HYDRANT, LEAD, AUX. VALVE AND BOX	EA	1.00	\$2,500.00	\$2,500.00	1.00	\$2,500.00	\$0.00
14	14" GATE VALVE AND BOX	EA	1.00	\$4,000.00	\$4,000.00	1.00	\$4,000.00	\$0.00
15	12" GATE VALVE AND BOX	EA	1.00	\$1,400.00	\$1,400.00	1.00	\$1,400.00	\$0.00
16	12" x 12" x 12" TAPPING SLEEVE WITH GATE VALVE AND BOX	EA	1.00	\$4,000.00	\$4,000.00	1.00	\$4,000.00	\$0.00
17	5' DIA. AIR RELEASE VALVE MANHOLE AND AIR RELEASE VALVE	EA	1.00	\$5,000.00	\$5,000.00	1.00	\$5,000.00	\$0.00
18	14" x 12" REDUCER	EA	1.00	\$600.00	\$600.00	1.00	\$600.00	\$0.00
19	14" x 11.25 DEGREE BEND	EA	2.00	\$650.00	\$1,300.00	2.00	\$1,300.00	\$0.00
20	14" x 90 DEGREE BEND	EA	1.00	\$750.00	\$750.00	1.00	\$750.00	\$0.00
21	12" x 11.25 DEGREE BEND	EA	2.00	\$450.00	\$900.00	2.00	\$900.00	\$0.00

LINE ITEM	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
22	12" x 22.5 DEGREE BEND	EA	3.00	\$450.00	\$1,350.00	3.00	\$1,350.00	\$0.00
23	12" x 45 DEGREE BEND	EA	2.00	\$450.00	\$900.00	2.00	\$900.00	\$0.00
24	12" x 12" x 6" TEE	EA	1.00	\$525.00	\$525.00	1.00	\$525.00	\$0.00
25	6" PLUG	EA	1.00	\$200.00	\$200.00	1.00	\$200.00	\$0.00
26	8" PVC SEWER (AWWA C-900)	LF	180.00	\$50.00	\$9,000.00	180.00	\$9,000.00	\$0.00
27	8" PVC CLEANOUT	EA	1.00	\$225.00	\$225.00	1.00	\$225.00	\$0.00
28	FURNISH AND PLACE TOPSOIL & COMPOST MIXTURE	CY	235.00	\$38.00	\$8,930.00	235.00	\$8,930.00	\$0.00
29	SEEDING, FERTILZING AND MULCHING	SY	2,810.00	\$0.85	\$2,388.50	2,810.00	\$2,388.50	\$0.00
30	WATER FOR SOD AND/OR PLANTS	MGAL	82.00	\$18.00	\$1,476.00	82.00	\$1,476.00	\$0.00
31	EROSION CONTROL, HAY BALES	EA	20.00	\$35.00	\$700.00	20.00	\$700.00	\$0.00
32	EROSION CONTROL, SILT FENCE	LF	700.00	\$3.75	\$2,625.00	700.00	\$2,625.00	\$0.00
33	MUCK SILT FENCE	CY	23.00	\$25.00	\$575.00	23.00	\$575.00	\$0.00
34	REPAIR SILT FENCE	LF	200.00	\$3.50	\$700.00	200.00	\$700.00	\$0.00
35	COMPOST	TON	29.00	\$30.00	\$870.00	29.00	\$870.00	\$0.00
36	EROSION CONTROL, HI-VELOCITY EXCELSIOR BLANKET	SY	2,610.00	\$3.60	\$9,396.00	2,610.00	\$9,396.00	\$0.00
37	AASHTO T-180 SOIL TEST	EA	3.00	\$140.00	\$420.00	3.00	\$420.00	\$0.00
	CHANGE ORDER NO. 1							
38	Pipe Insulation	SF		\$3.00	\$0.00	256	\$768.00	\$768.00
39	Chain Link Fence Gate	LS		\$953.35	\$0.00	1	\$953.35	\$953.35
	TOTAL				\$160,388.50		\$160,289.85	(\$98.65)

No. PW051303-03

LINE	DESCRIPTION	UNIT	CURRENT CONTRACT QUANTITY	UNIT PRICE	EXTENDED PRICE	ADJUSTED QUANTITY	ADJUSTED PRICE	NET CHANGE
	C.C.O. HISTORY INCREASE/(DECREASE)				PRIOR ADJUSTE	O CONTRACT P	RICE:	\$160,388.50
	Original Contract Amount: CCO #1: CCO #2:		160,388.50 (\$98.65)		NET INCREASE/(I	DECREASE):		(\$98.65
	CCO #2:				ADJUSTED CONT	RACT PRICE:		\$160,289.85
	Revised Contract Amount =	\$	160,289.85		CHANGE TO DAT	E:		(\$98.65
CONTR	RACTOR:					-	DATE:	
ENGINE	EER:					_	DATE:	
MAYOR	R:					_	DATE:	
FINANC	DE:						DATE:	
CONTR	RACT TIME CHANGE +/-: 0 NEW C	ONTRAC	T TIME: "No C	hange" 0 Da	avs			

			CURRENT					
LINE			CONTRACT	UNIT	EXTENDED	ADJUSTED	ADJUSTED	
ITEM	DESCRIPTION	UNIT	QUANTITY	PRICE	PRICE	QUANTITY	PRICE	NET CHANGE

CITY OF RAPID CITY CONSTRUCTION CHANGE ORDER NO. ONE (1)

CARRIAGE HILLS WATER TRANSMISSION MAIN EXTENSION

W02-1234 5/01/03

CONTRACTOR: MAINLINE CONTRACTING, INC.

LINE		REASON FOR CHANGE
		REASON FOR CHANGE
	CONTROLLED LOW STRENGTH BACKFILL	L.,
	MATERIAL	Didn't need as much material as originally estimated.
	Pipe Insulation	Needed to insulate watermain as cover was not adequate
39	Chain Link Fence Gate	Needed to install a chain link fence gate to provide access to an air release valve.
PREP	ARED BY:	DATE: